
	 1 pcs. 	MDF with priming foil	 2800	/ 2070	/ 25 	 mm
	 1 pcs.	maple solid wood final dimensions	 834	 / 144	 / 22.5 	mm
	 1 pcs.	 nut solid wood final dimensions	 834	 / 144	 / 22.5 	mm
	 1 pcs.	 POM	 	 650	 / 200	 / 20 	 mm

14 pcs.	wood screws 	 5x70 self-drilling (assembly body)
	64 pcs.	wood screws	 3/20  (slide bearing mount)
	 8 pcs. 	wooden dowel 	 8x25 (score counter mount)
	 2 pcs. 	wooden dowel 	 8x352
22	 pcs.	screws 	 M4/40 (handle screws)
22 pcs.	nuts 	 M4 self-locking
22 pcs. washers 	 M4
24 pcs. screws 	 M8x60
24 pcs. washers 	 M8
24 pcs. Nuts 	 M8 self-locking

Raw materials

Material list 
Foosball Table

EW © 2018 · FELDER KG · KR-Felder-Straße 1, 6060 HALL in Tirol, AUSTRIA 	
www.felder-group.com · advertising@felder-group.com

2 pcs. wooden dowel 8x352



Tabel football ball*

8 pcs. table football handles to match the rods*

4 pcs. spacers (next to goalie)*

figurine mount
22 nuts M4 self-locking
22 washers M4

Table football rods*

16 pcs. rubber buffers or springs*

figurine mount
22 screws M4/40 

(handle screws)

feet mount on body
24 pcs. screws M8x60

24 pcs. washers M8
24 pcs. Nuts M8 self-locking

Accessories

* purchased at: shop.tischfussball-online.com


